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3�-�ก...#��
	ก��%�<��+����4��/�4��"	�ก��%��		ก
�*��-�ก %�<�/��	�*��6
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 ������#��$�	��'��Qก*+<�กS$�?*�����$�	����	�ก*���	������<��� -
��8���	��������3���<� 2T3 
�;���'����� �����2�3��"��	��/��"	
�"��"*���6����3��	+ 20 �;ก><��#
� 3��
�	� ก.�.2557 ����2�3�	����ก>+��2�
"��
3/Q� 33 �/���*�<������ ����	3��3��; 2558 .2��<� 32,710 �����7ก+��ก
��$� (�+.�.) ��
��)� 46% 
"	��<��.6	���Z �����$���2�3��ก��#
� 9,207 ���� �+.�. ��
��)� 20% 
 "C������<��
��<ก*�"	��; 2558 ����2�%2�/�*+3��3��; 2559 .2��<� 32,081 �����7ก+��ก
��$� (�+.
�.) ��
��)� 46% -
���)������$���2�3��ก��#
� 8,578 ���� �+.�. /��	 18% 
 �/>�#
��*
<�������C��2�3�	����ก>+��2��/��		�7��������	���
 $�	�+��/��.*
ก��ก*�	�����6�*ก�6�� 
�*0+��$�	��*
��$�ก���6ก�7��++3/���<���6$�ก���2�����*� -
��8���3��"$�6����2�?��ก��������)��/���
�ก($�ก���'��3/Q�%6
"	������� ���/*�#�%���%���ก��������7ก���������	ก$���@ ���3�������C��2���	�
���%6
 �2��*��������%������ก($�$ก$�2�ก>���	�7����< ����	#������2�3/��2���	�กก>����\�2��$��%&��ก��C
3/���<����
��#�	�ก! 
 %2�/�*+�; 2560 ��� ���%&��ก��C
?*�����.�����������#�.�ก	
�$ �$�ก>3��<��.�/��3./���	#
�-���
����������$���2�3��"��	�+���"��	������)��%�����	
3/Q�#��#
���ก����*ก -
����%6
 C <*���� 25 ��.�.2560 
���'����� ����2�3�	����ก>+��2�"��
3/Q��*�<������ 41,772 ���� �+.�. ��
��)� 59% ����2�3��ก��#
� 18,245 
���� �+.�. ��
��)� 39% 
 �������8������2�3�	����ก>+��2��*�<������.�	�7���� 59% �$�	����ก>+��2�"��
3/Q�	�����"��	�?7�������
�"��	�%���ก�$�^ \4����)�/*<3./�*ก"	��6���.������� ก�*+����2�3��"��	��<�ก*� 11,513 ���� �+.�. ��
��)� 50% 
"	��<��.6 �������2�3��ก��#
� 4,863 ���� �+.�. /��	��
��)� 30% �����*�� �������	��ก�8���3�%�<�"	�
�"��	�?7�����*������2�	�7� 6,127 ���� �+.�. /��	 46% "	��<��.6 ��)���2�3��ก��#
� 2,327 ���� �+.�. /��	
����� 24% �����*�� 
 "C����%&��ก��C
ก��������7ก"��<����*�"	��ก($�ก�3��6����2�?��ก����*��3�����	ก�"$�������
�������� �<�ก*�#����<ก<�� 11.06 ����#�� ��กก<���'����ก����<��ก($�Z<��#<���� 6.93 ����#�� /��	
��กก<���'�#���< 4.13 ����#�� /��	�����C 60% .4�#��	�.<��3.$�	�<���%����.�ก?*��������.��ก�
"4�� 
 :������(0ก�.A %*�?�(C
 ���%*Q�*� �ก$6<��*� 	��+
�ก���������� ����	#""�	ก*�"�$�	
%&��ก��C
 :��2����?*�����A "	�������<��?���*0�*��� :�	�	�7�A /��	#�� 
*���� : 
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������������ 34 ������� 
 /�ก��.��C�$���6���2�3� 4 �"��	�/�*ก"	������� 	*�#
��ก� �"��	�?7����, �"��	�%���ก�$�,̂ �"��	���<
��	�+2��6��
� ����"��	��R�%*ก��%����^ $��������"	�ก�������������%6
.��/>�#
�<�� �������C��2�
$���6� 4 �"��	��<�3��;���	�7���� 12,493 ���� �+.�. ��
��)� 50% "	��<��.6	���Z ��กก<���; 2559 \4����
�����C��2� 9,260 ���� �+.�. -
��������C��2�3��ก��#
� 5,797 ���� �+.�. ��
��)� 32% \4���*���	�ก<��
�'�.*
%����2���<�S
7�������ก2�/�
#<�<��.��������Cก��3����2�.�ก�"��	� 5,950 ���� �+.�. 
 ���%*Q�*� �ก$6<��*� 	��+
�ก���������� ก���<ก*+ :������(0ก�.A <�� ����;���%?��	�ก��
-
��<�"	�������#��.���	���	6ก<���;���'����� -
�ก��	6$�����<�������ก��<��3���<��
�	� ��.�.-�.�.
2560 ������#��.���	6C/?7��%7�ก<���6ก�; -
��8����
�	� ��.�.��� .���)��
�	������	�ก����	����%6
�����
	6C/?7��%7�%6
 42-43 	����\��\��% \4����)�	�ก%��/$6"	�ก���ก�
 :?*�����A 
 	����#�ก>$�� 3���<�<*���� 26-28 ��.�.��� ก��	6$6����<����#
����ก�C
<�� ������#��.������6S
7
��	�\4��.�%��'�
�	�.�2�3/�%����&ก*ก�ก>+��2�#
�������$��	�ก.�ก�'����<��#<�<�� 3���<�<*���� 1 �.�.2560 \4��
�"��%7�S
7F�.�����2�3� 4 �"��	�/�*ก 3,750 ���� �+.�. 	�..������"4��#�&4� 4,400 �����7ก+��ก
��$� 
��กก<���'����<��#<� 700 ���� �+.�. 
 ���%&��ก��C
��2����?*�����3��;���
7.�����������#�.�ก	
�$ �$�ก���*�� 	��+
�ก���������� 
��+6<�� �*����� :��������%����A ���ก����*���ก���2� ก����*���ก���2�+�
�����/��<��������ก���<"�	� #
�
�������3���<� 3 �
�	���/<��� ก.�.-��.�. �+<����������%���������
<��.�"�
������2�����	ก���ก($��	ก
�"$�����������*��/�
 34 .*�/<*
 105 	2��?	 �+����)���������F=���<*� 86 	2��?	 �������3ก��<�กS$� 12 
	2��?	 ���	�7�3��������<�กS$��� 7 	2��?	 #
��ก� 	.+����ก2� ..��(C6-�ก 	.ก�#ก���� ��� 	.���	� ..
%6-"�*� 	.�6��%� 	.+���$��%*� ��� 	.��
��< ..���%<���
 ��� 	.-������ ..��.�$� \4����	�ก<���;���
���<&4� 4 ���� 
 
�������������������

��� ��� 
 �	ก.�ก�*�� �*��� :�<���%����A ���.��2�3/�ก��+��/��.*
ก����2�	�.$�	� :%�
6
A .�กก������ก($�ก�
��<��-/���7ก"��<����*��	+ 2 ก*�	����$�	����	� -
��8���3��"$�6���.������� �����ก��������7ก��
��*��ก���'���ก���%6
 -
��9..6+*���ก��������7ก#����< 5.35 ����#�� .�ก�'��
�����ก2�/�
#<� 2.67 ����
#�� \4����กก<���'����<��#<�&4� 2.68 ����#�� -
���ก���ก>+�ก���<#����< 1.27 ����#�� ���/��	��������*�#��#
�
�ก>+�ก���< 4.08 ����#�� 
 �*������������ก���ก($����$�	� :�F=���<*�A ��	3��"$�6���.�����������*��ก>+�ก���<#��/�
 ���������������7ก
"��<�����	��6 1-10 %*�
�/
 �����C 2.20 ����#�� ���	�.�%���� ��"��<�ก�
�<���%��/�� ����	�.�ก�����C��2�
�����	�7�3��9..6+*�3��"$��������%����&%�*+%�6�ก��3����2�%2�/�*+ก��	6�-?�+��-?� ����*ก(���++
���<�3/�#
�.�&4���<�F�$ก�6ก�����*�� -
�"C�����6���.�������3����2�#����< 5,327 ���� �+.�. ��
��)� 90% 
"	��'�.*
%����2� ���ก2�/�
#<� 5,950 ���� �+.�. �2�3/������C��2�$���6����ก*ก�ก>+#<�3�������.��ก�
�9Q/� 
 



:�9..6+*���ก����7ก"��<����*���กก<���
�� 1 ���� �2�3/���ก��3����2���กก<���
�� �$���<��%�<�3/Q������7ก
"��<�ก���'���%�<�/�4����+�	+�
��"	�$*<�	� �$�	����#�ก>$�� ก>�a��%�#��#
�<�� ����<��%�<�/�4�����
#��#
�	�7�3��'� ก���*+��2� �*ก�	+%7+��2�#�3��3��������ก���ก($�"	�$*<�	� \4��$�����%��'�ก���+$�	�'�
.*
ก����2�3�?���<�
�<�A 
 �*�����/�ก��<���*���
���7ก"��<	����$�	����	�.������C��2����3��%�*+%�6�3��"$����������ก"4�� 
.�ก���+$�	�����C��2�$���6� �����
<��3�	���$.��ก�
ก�� :���������2�A 3��������	��������	�! 
 
�ก"�����ก�#$��$�%#&������ 
 ���ก���=	�ก*����+�����%����C?*� (�?.) .��*�#��#
����ก���"$�������?*���+*$�.�ก�"$?*�����
	������)����ก�� �$��������?��ก���ก($�3�/���.*�/<*
�	ก�"$�������� �����#
��*+'�ก���+.�ก
�9Q/�"�
������2�"4����+������< 
 
*��*�� ����	�$�����<�����	��*+��	�/$6#����
F9����	�.�ก�
"4�� ก����<��ก($�Z .4��%�	�'�
�$����ก����<��/��	?*�����
���ก���ก($��; 2559/60 $�	�C��*0��$�� (���.) ����	<*���� 24 �.�.2560 
-
�<����<���ก��
2�������� 5 �'���� #
��ก� 1.ก��.*
%����2�S
7���� �; 2559/60 2.ก��������7ก���
S
7���� �; 2559/60 3.�'�ก��.*
%����2�"	��*0+�� 4.�'��a�+*$�ก��F�/�<� ��� 5.ก���
�<���%����
.�ก?*�����
���ก���ก($� �; 2559/60 \4�����ก	+
�<� 6 ��$�ก�� 29 -���ก�� �+�����C�<��*��%��� 
17,324 ����+�� 
 ���ก	+
�<� 1.��$�ก��%���%����<���7�����	�
�<���%����.�ก?*����� -���ก���*H��	����ก��
������%*$<
�++'%�'%��3��ก($�ก������	� 
2�����ก��	+��3/��<���7��ก��ก($�ก����< 8,870 ��� 3� 
12 .*�/<*
 
  2.��$�ก����������%����?��ก��3����2�����	ก���ก($� 	��� -���ก����7ก����6B�%
 -���ก��
��*+�������ก����7ก"��<#���7ก���/��ก/���S
7����*� �; 2560 
 3.��$�ก������������C��2�$���6� -���ก��ก�	%���� "6
�	ก/��*+��6��/�����2�3��"$�a��7����
�� 
�+�����C 125.92 ����+�� ��=�/��� 113 �/�� 33 .*�/<*
 
2�����ก�����<�%�>. 57 �/�� 20 .*�/<*
 ��

��)� 59.29% -���ก��ก�	%�����/�����2�3�#�����	ก�"$�������� �+�����C 752.40 ����+�� 
��=�/��� 44,000 +�	 3� 60 .*�/<*
 
 4.��$�ก��5cd�57����*H����������ก($�������%+?*� -���ก�������"�
�<��%����&3/��ก��ก($�ก� 
ก�.ก���/��<�+��ก����<���++�����	���� �+�����C 8.30 ����+�� .*
$*���7��
Z���< 51 �7��
 	+��
�ก($�ก�#����< 2,408 ��� ก��.����������ก($�ก�3���������������� �+�����C 2,400 ����+�� 
��=�/���.������ 8 ������$�	<*�  
 5.��$�ก��%����ก���*+�7���������%*��*��
 ���  
 6.��$�ก��.*
�2��'��<��$�	�ก��"	��6��� ����	+�����'�ก���+.�ก?*����� 
 
 



��'���%	�
��(� ��
�� 8.7 ����,�� 
 %2�/�*+ก���ก��9Q/�?*�����	�����*������*�� 	��+
�ก������������+6<�� �6ก/��<��������ก���<"�	� 
	��� ก����*���ก�������$����%����<
��	� ก���*H�����
�� .�$�	��
��$���'� :�6����%$�
ก��+��/��
.*
ก����*���ก���2� 12 �;A \4�������$*���$��; 2558-2569 $���6����%$�
ก����<��ก($����%/ก�C
 ���� 
20 �; 
 -
�%������$�	��2� ��	ก��������������������������/���ก*ก�ก>+��2�3��"$��������	ก��������3/�����2�
3��	����������	 ����	�.�ก%��/$6%2��*Q����ก�
?*������	ก��������������� ��	 ก��"�
������2� :	6�-?�
���+��-?�A :%������$�	��2� ��	 ก��%�����"��	� �ก����� ���$7��+����2� Z�Z ����	ก*ก�ก>+��2�3���������	ก�"$
�������� �'�������<����*0+����	�7����< �$�ก��.��
��$���'�$�	�3���<�� �����	�.���%+�9Q/�
���
���%*��� %����<
��	� 	��� ก��%�����"��	�.��ก�
'�ก���+�*�� 2 FR�� ���*�������#
��*+����%��
'����-���
 $�	���ก���2�������%����<
��	� ��)�$��A 
 %2�/�*+3��; 2560 ��� ก����Z$*����=��������������������� 350,000 #�� %�����/���ก*ก�ก>+��2������ 
400-500 ���� �+.�. -
�����=�/���	�ก 5 �;.��������������������� 8.7 ����#�� ����������C��2�ก*ก�ก>+ 
4,800 ���� �+.�. \4��&�	��)���=�/���3/Q����ก��Z$�	� :�2�3/�#
�A ����	�.�ก3���<� 3 �;���'����� ก��
%����&������/���ก*ก�ก>+��2�#
������ 1,000 ���� �+.�. ����������������� 1.5 ����#�� ��
��)� 20% "	�
�'��*��/�
 12 �;���ก2�/�
#<� 
 :$�	#�ก������������$�	��*+ :?���/�*กA 3�ก���
��/���$���'����<��#<� ����	�.�ก�*����������
�/��		�ก 7.7 ����#�� ���$�	��*H���/�����2� %�����/���ก*ก�ก>+��2� ����	�ก��9Q/������������#��������	ก*+
ก��������7ก �
��/���#�%7�ก���ก�#"�9Q/�����	�ก��+��ก��.*
ก�� :��2�A 3�������< .��*<�2�����++ :�7+
/�����.�7กA �6���ก��9Q/��8���/���	�������'�����#��#
�A 
 �$����;�������C��2�F����$ก3��������������#�������C 700,000 ���� �+.�. ���/�#������C 
400,000 ���� �+.�. ���\4���
�� 100,000 ���� �+.�. �/��	�����C��2�'�<
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